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N AbifEE 10. 00| AHxf 1,113 11,130 2,700| 2,495 2,052
HOR ™ 5 5. 00| FH*} 24 120| 3,240 2,372| 1,080
H ¥ £ ¥ 15. 00| AH%F 599 8,985 1,404| 1,245 972
X H D BB 10. 00| FH%f 600 6, 000 1,123 878 594
1T NAEL 5 B 4. 00| FHx*} 15 60| 6,048| 5,875| 5,832
H % e 3. 00| FH*} 40 120| 3,024| 2,762| 1,944
B A [l R 1. 00| fHxf 215 215| 1,188] 1,020 432
& I | so00| kx| 5] 95| 5,400 4,104 2,700
AN w5 5. 00| FH*} 146 730 2,484| 2,073| 1,188
N A 0.40| f%f| 820 328  173] 152 76
LE L =g 4. 00| FHx} 320 1,280 4,104| 3,407| 2,484
[ I\ F ) 5. 00| fHx} 24 120| 2,052| 1,508 864
= | 5.00] FAAF| 567| 2,835 2,160| 1,701 1,188
v— =g 0. 15| FHx} 3,238 488 103 100 97
N7 k= R AbifEE 3. 00| FH*} 237 7111 3,780 3,626| 3,024
= | o.00 #A%F| 30| 60| 2,376] 2,304] 2,160

ot =g 2. 00| FHxf 1 2 4, 320
H 7% w5 5. 00| fHxt 299 1,495 2,376 2,121 1,296
A—0 4 Ak 10. 00| AHx*} 510 5,100 1,944| 1,353 972
B F =g 10. 00| AHxf 206 2,060 3,780 2,544| 1,296

£ & AbifEE 20. 00 | FHxf 10 200 2, 160
O FE | 10.00] kHkf| 558 5,580 1,836] 1,454 972
LA A £ ¥ 10. 00| FAXF 1,170 11, 700 1,296 1,078 648
=L k¥ 4. 00| FH*} 492 1,968 1,890 1,330 378
Tryal— £ ¥ 4. 00| FH*} 30 120| 4,860 4,680| 4,644
AEHEE w5 0. 10| FHxf 1, 600 160 184 110 54
ZDXH E ¥ 0. 20| FHx} 1, 830 366 86 65 59

LU B 5t 0. 20| FHx*} 300 60 92
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iR LA EE A Tk L 10. 00| AHxf 346 3,460 4,320 3,382 1,944

SONG H & 10. 00| FH%f 13 130 4, 860
Bk wmoE 10. 00| FH%f 100 1,000 4,860 4,088 3,564
oI | 10000 AERE| 92| 4,920| 5,400 4,837| 3,456
B A — % ] L 2. 00| FHx*} 52 104 2,376| 2,102| 1,728
AR B 0.60| fHxt| 30 19 410 378
kil o fuxt|  9t0] 013|324 303 248
NEYIN e 10. 00| FH%f 50 500 4,860| 4,687| 4,644
P = b 10. 00| AHxf 39 390 17,280| 10,952| 5,940
v 7 4 UE | 13.00| fHx%F 21 2731 3,024 2,962 2,808




